PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : S496-410

DESCRIPTION / DESCRIPCION : DRESSER / COMMODE / TOCADOR

~ AWARNING
Serious or fatal crushing injuries
can occur from furniture tip-over.

s e @ @ \/

® ©

x8 JCBC Bolt M6 x 40MM K x8 Spring Wa\sher M6 >k x8 Flat Washer M6 K x1 Allen Key 4 x 65MM 3k
' x8 Boulon JCBC M6 x 40MM x8 Rondelle a ressort M6 x8 Rondelle Plate M6 x1 Clé hexagonale 4 x 65SMM
:Zf ::g;:‘vi:;::ﬁ::':i:‘f:p"_j":e:f“”“v x8 JCBC Perno M6 x 40MM x8 Arandela auto-bloqueante M6 x8 Arandela Plana M6 x1 Llave Allen 4 x 65MM
< This is @ permanent label. Do not remove! /

A
U =
® ® ©

xj Il;eg 3 x1 Center Leg sk x1 Tipping restraint
x4 Patte . N . . . .
Pt <1 Pattes centrales x1 Liste des pieces de quincaillerie antibasculement

x1 Patas centrales x1 Abrazadera antivuelco

*Replaceable Part
Page 1 of 3/ Page 1 sur 3/ Pagina 1 de 3 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia




ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S496-410

DESCRIPTION / DESCRIPCION : DRESSER / COMMODE / TOCADOR

e )

Serious or fatal crushing injuries

can occur from furniture tip-over.
To help prevent tip-over:

HARDWARE & LEGS (PACKED INSIDE DRAWER)
QUINCAILLERIE ET PIEDS ( EMBALLES A L'INTERIEUR DU TIROIR )
HERRAJES Y PATAS ( EMPAQUETADO DENTRO DEL CAJON

« Never open more than ane drawer at a time

Use of tip-over restraints may only reduce,
but not eliminate the risk of tip-over.

o This is @ permanent (abel. Do not remove! /

AFFIX TO WALL
BEHIND DRESSER /

KENAFFIX AU MUR
DERRIERE LA \
COMMODE /

KENAFFIX A LA

PARED DETRAS DE
LA COMODA

*Replaceable Part

Page 2 of 3 / Page 2 sur 3 / Pagina 2 de 3 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S496-410

DESCRIPTION / DESCRIPCION : DRESSER / COMMODE / TOCADOR

AWARNING

Serious or fatal crushing injuries
can occur from furniture tip-over.
To help prevent tip-over:

e restraint provided

« Mever open more than ane drawer at a time

Use of tip-over restraints may only reduce,
but not eliminate the risk of tip-over.

This is @ permanent label. Do not remove! )}

P

/

P

__—

/

~O

x4 RS496-410-KNOB 3k

Knob with Screw
Poignée + vis
Tirador + Tornillo

&

x4 RC-BR-NAIL
Brown Plastic Nail
Clou en plastique
Clavo de plastico

_/

4 RS496-410-LEG 3k
Legs
Jambes
Piernas

>

- —_—

x4 RS496-410-PULL K x6 RS496-410-DG
Pull with Screw Drawer Glide
Tirer + vis Glissiére
Tirer + Tornillo Carril de deslizamiento

x1 RS496-410-HWKIT sk
Hardware Kit
Liste des piéces de quincaillerie
Lista del kit de materiales

T

x1 RS496-410-CELEG %k
Center leg
Pattes centrales

Patas centrales *Replaceable Part

Page 3 of 3 / Page 3 sur 3 / Pagina 3 de 3

Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia



	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


